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TrigonometryExercised4 for No.l
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No3 =

.1 =Cos(a)
.3=Tan(B)
S=Cos(p—a)
L .7=Cos(2B)

No5 = [ Cond = (Cos(44°) = 0.719), Question = Cos(22°)],

No6 = [ Cond = (Cos(18°) = 0.951), Question = Sin(9°)],

[Cond] = [Sin(q) :gj Cond?2 = (COS( B) :%H

.2=Sin(B)
.4 =Sin(a + B)
6=Tan(a—B)

S=Tan(2 o)

, No4 =

[Cond] = (COS(OL) = ij Cond?2 = [Sin(ﬁ) = ;3)}

.1 =Sin(a)
3 =Tan(a)
5 =Cos(a—B)
.7=Cos(2B)
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.2=Cos(PB)
4 =Sin(a + )
=Tan(f-a)

S=Tan(2 o)
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TrigonometryExercise4 Answers for No.l
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8=(Tan(2 a)=-20+/6)
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Ans5 = (Cos(22°) = (Sqrt(0.8595) = 0.927)),

Ans6 = (Sin(9°) = (Sqrt(0.0245) = 0.156)),
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